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runner% cat treealt.c
#i ncl ude <stdi o. h>

#i ncl ude <ctype. h>

#i ncl ude <string. h>
#i ncl ude <stdlib. h>
#defi ne MAXWORD 100
#def i ne MAXS 100

struct tnode {
char *word
int count;
struct tnode *left;
struct tnode *right;
s
struct tnode *addtree(struct tnode *, char *);
struct tnode *newnode(char *);
void treeprint(struct tnode *);
struct tnode *talloc(void);
int getword(char *, int);
char *strdupl (char *);
/* stuff belowis for a stack of pointers to nodes */
voi d push(struct tnode *);
struct tnode *pop(void);
int size();
struct tnode *s[ MAXS];
int sp = 0;

/* word frequency count -- non-recursive version */
mai n()
{

struct tnode *root;

char wor d[ MAXWORD] ;

root = NULL;

whil e (getword(word, MAXWORD) != EOF)

if (isalpha(word[0]))
root = addtree(root, word);
treeprint(root);
return O;

}

/* addtree: add a node, non-recursive */
struct tnode *addtree(struct tnode *p, char *w)
{
i nt cond;
struct tnode *root = p;
if (p == NULL) return newnode(w;
for (;;) {
if ((cond = strcnmp(w, p -> word)) == 0) {
(p -> count) ++;
return root;

}
i nd < 0) {

((p ->left) == NULL) {
p->left = newnode(w;
return root;

f (co
i f

}
else p =p -> left;
}
else if (cond > 0) {
if ((p->right) == NULL) {
p -> right = newnode(Ww);
return root;

}
else p=p ->right;

}

/* newnode: fix up a new node */
struct tnode *newnode(char *w)

{
struct tnode *p = talloc();
p -> word = strdupl (w;
p -> count = 1;
p->left =p ->right = NULL;
return p;
}

/* treeprint: in-order print of tree p, non-recursive
version */
void treeprint(struct tnode *p)

ﬁ for (;;) {
while (p !'= NULL) {
push(p);
p=p->left;
qu (;:) |
if (size() == 0) return
p = pop();
printf("%ld %\n", p -> count, p -> word);
if ((p->right) !'= NULL) {
p=p->right;
br eak;
}
}
}
}
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/* talloc: nmake a tnode */
struct tnode *talloc(void)
{
return (struct tnode *)
mal | oc(si zeof (struct tnode));

}

/* getword: get next word or charcter frominput */
int getword(char *word, int [im

i
Int c;
char *w = word
whil e (isspace(c = getchar()))
if (c !'= EOCF)
*wH+ = C;
if (lisalpha(c)) {
*w="\0";
return c;
}
for (; --1lim> 0; wt+)
if (lisalpha(*w = getchar())) {
ungetc(*w, stdin);
br eak;
}
*w="\0";
return word[ 0]
}

/* strdupl: make a duplicate of s. (builtin) */
char *strdupl (char *s)

{
char *p
p = (char *) malloc(strlen(s)+1);
if (p !'= NULL)

strecpy(p, S);
return p;

}

/* push, pop, size: stack routines */
voi d push(struct tnode *p)

{
}

struct tnode *pop(void)

{
}

s[sp++] = p;

return s[--sp];

int size(void)

{
}

runner%lint -m-u treealt.c

return sp;

function returns value which is always ignored

strcpy printf unget c
runner%cc -o treealt treealt.c
runner%treealt <treealt.c
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